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Do not open this booklet until asked to do so...

RATIONALIST TALENT
SEARCH EXAM 2014
(RTSE)

STD : 1V

Date of Examination : 30 March 2014 R 11 N
Time : 2.00 pm to 4.30 pm 0 0.

Guidelines for the candidate

1. ufeT & givargal fammeatr Syul mifedt sRuaraat 30 ffe 31k e Juam aget.
You will get additional thirty minutes to fill up information about yourself on the Answer Sheet, before the
start of the exam.

2. e RAYETHAE THOT 150 TR 3T Tieh TR 2 0T YR

This question booklet contains 150 questions each question carries 2 marks.

3. T Y WISTaut Savash 3T%. o= STRIEE Ml UM F3cdTal FehRe! U SISl shet SR Tét.

All questions are compulsory. There is no negative marking.
4. 3MIEATE ST YRR [HeTeaTe W e HATal.

Check to make sure that you have received the appropriate test booklet for your standard.
5. ITRYRERaR STIet AT, GRET S, T2 ST a7 Fg Tehi Tofg = TRt TaeiRt share.

Write your name, roll number, group and class clearly on the Answer Sheet and do not forgot to sign it.
6. AL Hos THd IR SR M. SR SIS Uehel T IS

There is only one correct answer. Choose only one option for an answer.
7. ITE WA SAUATIE! s el e T Sierde aTeRTaT.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a blue/black ball point

pen only. Eg.

Q. x :- Fill in the blanks.

My father went to buy some milk.

A. There B. their C. They're D. here

As the correct answer is option A, you must darken the circle corresponding  Q.X . @ @
to option A in the Answer Sheet

8.  Tiel HuoaTaR THE STRUTh THaeTehiehs TR .

Return the Answer Sheet to the invigilator at the end of the exam.

9. ST TRET SHHi THTYRTRER GaT foTaTa o Ha¥ FReqen! TetT ShicerHaY STaedT |ie =l

Write your Roll No. on the Question Paper too and take it home for future reference.




AT 37Tt fetel. o - % = ?
a) 27 b) 72 c) 24 d) 42
Write answer 1n international numerals : 4\ - 3¥ = ?

a) 27 b) 72 c) 24 d) 42

L\93R BT 37eh STERTT HIMl fetarer?

a) T &N I b) I EIR TS I
¢) FIE S d) grert @R

How is the number 5732 written in words?

a) fifty seven thousands and thirty two

b) five thousand seven hundred and thirty two

c) fifty seven thirty two

d) five hundred seventy three

38R Y AT AT '3 =Y T R feet?

a) 300000 b) 30000 C) 300 d) 3000
What is the place value of the digit '3' in the number 3621457

a) 300000 b) 30000 c) 300 d) 3000

L0000 + 0 + Roo0000 + \g + \goo = ?

a) 4290 b) 249930 C) 349039 d) guowr
50000 + 20 + 100000 + 7 + 700 = ?
a) 521770 b) 157720 c) 157027 d) 150727

4, 8, 7 &1 3ThITEA TR BIUTRT TR 37eh! Walld Wit WAt ShioTet?

a) 8874 b) 8847 c) 8774 d) 8748

Which is the greatest 4 digit number formed by using each of the digits 4, 8 and 7?
a) 8874 b) 8847 c) 8774 d) 8748
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6. 30T 40 =1 Iwe Jom=an faww S st fohdi?
a) 225 b) 175 c) 315 d) 75
What is the sum of the odd numbers between 30 and 40?

a) 225 b) 175 ¢) 315 d) 75

7. 13 100 g3q A= Ggert G fohet?
a) 72 b) 73 c) 74 d) 75

How many composite numbers are there from 1 to 100?

2) 72 b) 73 ¢) 74 d) 75
Y . . . .
8. — 0 SHYVlTenl™ YYllIendord S Vilenld QHIAR en<l].
3
R Y
2) u b) ¢ &) o d) 3
Y 3 3 3

Convert the improper fraction ? into a mixed number.

1 1 2 5
5— b) 8— 7— d) 3=
2 5 ) 3 2 3 ) 3

9. ¢ SMHARI R00¢ T HIBAR BIAT oY 32 feda 00¢ TSI SHIvAT IR Idt?

a) GHaR b) HZaR C) TR d) TeaR
There was Tuesday on 1% January 2008 what was the day on 31 December 2008?
a) Monday b) Tuesday c) Wednesday d) Thursday
10. oo STRATCe! RO IRTHGT R0 T 3TE. T X =T fhAd Tohat?
y \ a) 2o | b) ¢ Tt
7 om ¢) &R d) & 5=t
Perimeter of the given triangle is 20 cm. What is the value of x?
a) 10 cm b) 8 cm
c) 12 cm d) 6 cm

(Page - 3)



11.

12.

13.

14.

15.

(2 (2 o0 : a
GTelleTdeh] HHHT 3HeTel SUSTT 38R Shiurd !

a)J b)L )N

Which of the following English alphabet is symmetrical?

a)l b)L c)N

G N

+ L N

|y N

~_ A
Fi’ \‘\/’/ ‘iD ¢ A A A
13 = 3 o - - o

\_—P I GBI TSl FAT [ohdl?
DX _JF
N S
N _~

a) ¥ b)3 C) R

How many chords are there in the circle?

a) 4 b)3 c)2

QTeAeTIeh! Fehiel ARG HITT?
a) 31-12-2008 b) 31-1-2008 c) 31-5-2008

Which of the following date is incorrect?

a) 31-12-2008 b) 31-1-2008 c) 31-5-2008
QOO0 UPH = it @@'fl’l:l'

a) 1 b) 10 c) 100

1000 decigram = grams?

a) l b) 10 c) 100

{ T 00 HHT Tohell WA ¥ = [aasd 37’

a) 50 b) 40 c) 24

How many numbers between 1 to 100 are divisible by 4?

a) 50 b) 40 c) 24

d)H

d) H

d) ¢

d) 1

d) 31-4-2008

d) 31-4-2008

d) 1000

d) 1000

d) 2

d) 25
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16.

17.

18.

19.

20.

21.

22.

Pick out the adjective in the following sentence.
I have never seen a happier child.

a)l b) never c¢) happier d) child

Identify the correct singular-plural pair from the following.
a) sister-in-law : sister-in-laws b) leaf : leaves

C) oasis : oasises d) sheep : sheeps

Select the feminine gender :

a) drake b) drone c) ram d) goose

Select the tense form :
They are completing their work in the study room.
a) simple future b) future progressive

c) future perfect d) present progressive

For which word in this sentence will you use the capital letter?
The drama 'dreams' was an excellent piece of work.

a) drama b) dreams c) excellent d) work

Identify the kind of sentence :
Please, give me a glass of water.

a) assertive b) exclamatory C) interrogative d) imperative

Identify the correct meaning of 'idiom'.
To keep at a distance
a) to place something far away b) to stay miles away from

c) to refuse to be friendly with d) to continue to run in a contest
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23.

24.

25.

26.

217.

28.

Select the opposite word of 'permanent'

a) necessary b) certainty ) temporary

Fill in the blanks with appropriate comparison :
As as a clock.

a) slow b) fast c) regular

Give one word for "Government by the people"

a) aristocracy b) autocracy ¢) plutocracy

oo a r)
qQBﬁET Ad. HIHAT T UT=AT il spld UIdId !

a) ST Tt b) 3k Tt C) ek Tt

By which name the motion of the earth round itself is known?

d) secondary

d) old

d) democracy

d) grefess Tt

a) Annual motion  b) Diurnal motion c¢) Monthly motion d) weekly motion

TTeATeRuT=N @il fehat 311e?

a) goo TeRHt b) wo ferdt c) ¥o fert d) wu, ferdt
How deep is the lithosphere?

a) 100 km b) 50 km ¢) 40 km d) 75 km
QeATeTeh! bl [ shioTd?

a) VTUTE & Ueh Sifereh Beeh 3Te. b) foheeh Sifaeh Teeh oTRd.

C) TNt BT STk Heeh 3T% - d) ge1 U ST Tk IR,

Which of the following statement is a false statement?
a) Oxygen is a biotic factor.

c) Water is an abiotic factor.

b) Insect is a biotic factor.

d) Soil is an abiotic factor.
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29.

30.

31.

32.

33.

TERTSE ST ARATAT STl T 3117
a) gaer b) 3wk ¢) gfeToten d) ufs=den
In which part of India is the state of Maharashtra?

a) The eastern b) The northern c¢) The southern d) The western

QAT ShIUTdT HERTSZTET UTahciieh ST 3778 ?

a) TS b) mRraaTET

C) AT d) goi

Which of the following is a physical division of Maharashtra?
a) Aurangabad b) Marathwada

c) Nagpur d) Pune

HIAYET UadTd Tt g 31e?
a) TS b) ARUMIS C) TeFR d) greeR
Which of the following is a 'pass' in the satpuda range?

a) Astambha b) Toranmal c) Burhanpur d) Salher

TR =T T GO AT e ?

a) TS b) e A

¢) afe=H = d) Tierert o

Which is the other name of Sahyadri ranges?

a) Satpuda b) Eastern Ghats

c) The western ghats d) The basin of the river Godawari.

QTATCTIh! HIART SeaiTier o€ gae faahToT Shivr?

a) TR b) Fa@erR C) FETESYR d) oM™
Which of the following place is a hill station in the district of Satara?

a) Matheran b) Chikhaldara c) Mahabaleshwar d) Toranmal
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34.

35.

36.

37.

38.

ShicA! AT T SaT HoTdT?
a) T b) ot C) TTEERY
What is the main occupation of kolis?

a) Mining b) agriculture c) Fishery

o a LA f\?
He RIS [T A1 K [en-l=«Idl -] [endl!

a) oo oAl b) weR ferHt ¢) oo formt
What is the length of the sea coast of Maharashtra?
a) 700 km b) 719 km c) 720 km

Si9Jes o ATNTEUT SATRT Fe&T VT STATT TSB!
a) I b) urerEt ¢) T
Which type of forest are Jamun, Jack fruit etc. found?

a) Evergreen forest b) Decidious forest ¢) Mangroves

QTCAeTdeh! T ST HIoTd 3T ?
a) 3 NEHIEN
¢) AGTHIHTR d) =&rrer

Which of the following is a National park?

a) Aner b) Nagzira
¢) Nandur Madhameshwar d) navegaon
TS e TSTeRITd 3Tgosd.

a) Sereon b) AR c) AiRS
Manganese 1s found in district.

a) Buldhana b) Nagpur c) Nanded

d) aremT

d) Forestry

d) w30 ferHt

d) 730 km

d) s

d) Thorny scrub forest

d) AR

d) Latur

(Page - 8)



40.

41.

42.

43.

............. T IR S 3T
a) Io Sostl b) TR F1t ¢) HRI &1 d) gt hrEar
1s conventional energy resource.

a) wind energy b) solar energy c¢) Tidal power d) Coal

QeAeTIeh! 911 fueh hioT?
a) b) a1 C) SRy d)
Which of the following is a cereal crop?

a) Moong b) Val c) Jowar d) Tur

There are pharmaceutical factories in
a) Mumbai b) Solapur c) Nagpur d) Aurangabad
There are pharmaceutical factories in

a) Mumbai b) Solapur c) Nagpur d) Aurangabad

............ 2 HeRTSIAeT Ueh HEeaqul AT FETHIT 37T
a) BT - TR b) &7 - AATTRTEH-3Tm

. [a} .
C) T - QX d) el - AgEER

is an important national highway in our state.

a) Ahmednagar - Aurangabad b) Mumbai - Nasik - Agra

c¢) Phaltan - Pandharpur d) Sakri - Nandurbar
....................... T Ueh {od ST 3.

a) TS b) eTRTe C) STRICT d) sEHTTR

1s a railway junction.

a) Aurangabad b) Amravati c) Akola d) Ahmadngar
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45.

46.

47.

48.

a) Ve ameT b) SYelT ShT HeheT C) TUle THH d) SR 311 e

1s located at Pune.

a) Shaniwar Wada b) Bibi ka Mgbara c¢) Tapovan Ashram d) Jehangir Art Gallery

SRR ST ST TP Wit 3T ?
a) gd b) ufvem ¢) S d) gfeqor
Which direction is shown by the arrow on a map?

a) East b) West c¢) North d) South

FTeTTeTdeh! SHIvTAT AH TR Ul ATel?
a) ga ST Trofy b) & 37IfoT g C) T ST =IOt d) = enfor uEa

Which of the following is not a gift of nature?

a) air and water b) roads and bridges

c¢) jungle and wild animals d) rivers and mountains

ARG & ST SAhaT TG RO oo g

a) Fd b) T C) WIS Fe d) smezt
People having common motives means

a) family b) neighbourhood

c) social organisations d) school

=TT TR l‘I')C’i‘i'(lﬁlf\l HYd..oneennenes

(2 o (o + O (2 (2}
a) IIFAIh SIS b) shIsleh ST

o o (aY (aY o o a
C) IS TSTETETa! d) SFedteR o QrETSTeh SeA9E]

Good health is beneficial to

a) personal life b) family life

c) social life d) personal and social life
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49.

50.

51.

52.

53.

ST TTeeh e T Bl cveveneeeeennnns

a) Tl =AT GRET b) st FHdaTeAT gRater

C) T & S R d) TSI YRet
Conscientious citizen always thinks about

a) Security of self b) security of family

c) security of self and others d) security of his community

QTATCTIR! SHIOTl ViRl AT ATel?

a) Teroet b) wTeEiA TeTehen

¢) T d) sz g3 fasbron
Which of the following is not a historical monument?

a) a fort b) an ancient sculpture
c) a stupa d) a hill station

TYTaTST! HERTSTIHT TROT ST ATHh0T 31 he.
a) IeTTE b) I=TE c) e d) yeizTe

Shivaji named Torna as

a) Rajgad b) Raigad c¢) Sinhagad d) Prachandgad

.............. T ATAATEERTAT T9TaTeT HERTSTT 372 hel.
a) TSIt st b) Gyt Aifed ¢) frerere d) arTSTY

Shivaji arrested his relative

a) Shahaji Raje b) Sambhaji Mohite

c) Jijabai d) Tanaji

IHST AL &l Li\oﬁ ............... ElT'ﬁﬁ?lTﬁFﬂ

a) 01 b) Tt c) o d) FIeeTR

Afzal Khan was previously the subhedar of
a) Pune b) Stara c) Wai d) Kolhapur
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54.

55.

56.

57.

58.

IESCARSIIESC TR fehoedTeTT JIaT ETael.
a) JATHTS b) TTE c) TS d) T=gTeT
Siddi Jouhr laid a siege to :

a) Pratapgad b) Raigad c) Rajgad d) Panhala

TTETST HERISTIT ST ETTeR §oetl el Shetl?

a) \9 UfLIeT R&&3 b) Y TiYret 2803 C) 4 T R&&3 d) ¢ uivret 2863
On which day did Sambhaji attack Shahistakhan?

a)7 April 1663 b)5 April 1673 ¢)5 April 1663 d) 8 April 1663

TR G TRRETSIET ShioTd ST Ket?

a) TR F SR b) Ir@ e

¢) TEITE YUY d) e Tvar=
What was the offer made by Dilerkhan to Murarba;ji?

a) make him a sardar with a Jagir b) cash award

c) subhedari of Deccan d) Reprieve of life

RTATST HERTSTIAT HHSRISTA ... 3% TeRT TRIT TahTolt Saret.

a) et b) TR ¢) e d) s
Shivaji Maharaj left behind Smbhaji Raje in a safe place at :

a) Jhansi b) Mathura c) Gwalior d) Jaipur

TSTEITSTT HERTSTI= ST S BT v

a) v g PEEEEY

C) TR d) sy 7

The time in which Shivaji Maharaj lived was

a) ancient period b) medieval period

¢) modern period d) age of benevolent monarchy
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59.

60.

61.

62.

63.

64.

el TRRTHT T ShivTd?
a) S b) UeTR C) YT d) gaur

Where did Sant Tukarama live?

a) Alandi b) Pandharpur c) Apegaon d) Paithan
AR ITETST TSTAT <o, HREGICAEGIR

a) dsIe b) T C) T T d) gETEs
Adilshah had conferred the title of on Shahaji Raje.

a) Chandrarao b) Sarnobat c¢) Sar Lashkar d) Sar Naik
STETST ST v, feroearer Afa [HSTTHSIE! TITU Shed.

a) Rray b) iRy C) T d) aron
Shahaji Raje founded New Nizam Shahi on the fort of

a) Shivneri b) Pemgiri c) Purandar d) Torna
SEIEIERU s M G| I T Oea gas o

a) SRmEs b) sfigpwor c) sit ferso d) sft ot
Jijabai would say, "Shivba is the ancestor of the Bhosales."

a) Shri Ramchandra b) Shri Krishna c) Shri Vishnu d) Shri Shiva

qUIATE STETHIRT ShIOTTET ATe STetferet?

a) FRICIIE b) e C) TTRTS st d) ferersit
In whose name the Pune Jagir was administered.

a) Adilshah b) Nizamshah c) Shahaji Raje d) Shivaji
AR HIETE oo e B

a) IS b) SR ¢) T d) =eRoT
Tanaji Malusare belonged to village.

a) Umarthe b) Junnar c¢) Purandar d) Chakan
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65.

66.

67.

68.

was the chief priest of Shivaji maharaj's coronation.
a) Aryabhatta b) Gagabhatta c) Gangabhatta d) Moreshwar Pandit
was the chief priest of Shivaji maharaj's coronation.
a) Aryabhatta b) Gagabhatta c) Gangabhatta d) Moreshwar Pandit
TTETST FERISTAT A e & T fam ..
a) UIea I AR b) =g 3T Uages
C) TS I IRHAN d) =91€3as I ARG

The main divisions of Shivaji's army were

a) army and air force b) infantry and cavalry

c¢) army and navy d) infantry and artillery

ehisT T TTETST FERISTE oo Bl

a) T b) afeet ORICERIE d) =Rt et
Vyankoji Raje was the of Shivaji Maharaj.

a) Uncle b) father c) step brother d) none of these

TOTeITsTt HERTSTT STRAR 39N R ..........

a) AT RIS AR {ehUTRT AN B

b) TaEt & TSt o TSIereTe WRISATET €kl 311 ¢ ST SNt Bl

¢) TTemsTt HeRISTHT HIEET=gi=T S&0T Ia aid.

d) SFUAAT R IR Aeaa=T gidl.

Shivaji built up a navy because ____

a) his kingdom had a costal area.

b) he was aware of the danger from the Siddi, the Portuguese and the British.
c) He wanted to provide protection to fisherman.

d) He wanted to increase foreign trade.
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69.

70.

71.

72.

73.

TRTETSTl HeTISTiT TRISITEAT ETaeh 3THUMRY ... T ST he.

a) TS b) gy

¢) FATRRY d) et
Shivajiputanendto __ system that was dangerous to the Swara;.
a) Caste discrimination b) Untouchability

c) Watandari d) Forced labour

................. ¢ TTarsieRTST= Feread id.

2) BT b) AR c) sfamaré d) ferers
___was the family goddess of Shivaji.

a) Tulja Bhavani b) Toranjai c) Ambabai d) Shivai

QTeeTdeh! ShIvTdT STYeAT IRRTET & 9T ATel?

a) Je b) Tk c) Bt d) iz
Which of the following is not the main part of our body.

a) finger b) head c) chest d) abdomen

GTeAeTdeh! e e I aid?
a) w9t b) 3traTst c) g d) ==

Which of the following senses do we come to know through our skin.

a) touch b) sound ¢) vision d) taste
G RG] I e qIR 2ldrd
a) g b) =g C) TS d) @

Red blood cells are formed in the

a) heart b) muscles ¢) bone marrow d) joints

(Page - 15)



74.

75.

76.

77.

78.

79.

AT IS VT a1 iSedTeR df et Tt 2ict?
a) TGS b) siferasH ¢) AT d) FEFEH RIS

Which of the following gas turns lime water milky?

a) Hydrogen b) Oxygen c) Nitrogen d) Carbon dioxide
ST TETHITTS v, feRT0T STOREAT ST
a) T b) TR C) &~ d) g4

ray's are used for the surgery of the eyes.

a) gamma b) laser C) X-ray d) sun

HSHIT AIE UG T VT [STe-aed TR &l ?
a)s b) % c)« d) &1
Which vitamin is formed by sprouting of pulses?

a) D b) C c)B d) A

QTeATATIeh! ShIvTedT T Hed STV TRH e rel TR I ?
a) T b) fora c) as d) a5
In which of the following seasons do we need woolen clothes?

a) summer b) winter C) rainy d) spring

ST YR RITCeT SR I Tt ?
a) T ;X b) Here =R ¢) fen 78 d) ¥

What is the name of the house in Tundra region.

a) House boat b) stilt house c) ice boat d) igloo
TR U1 TSOT=AT TSHTOTS T <o 3T

a) I b) #E ¢) THE d) 3o
The climate of a place where there is abundant rainfall is

a) cold b) dry c¢) humid d) hot
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80.

81.

82.

83.

QTCAeTdeh! FaTd HIaT STeTdTaT ShivTe?
a) 7% b) dz C) =TI d) HEErR
Which of the following is largest reservoir of water?

a) taps b) lakes C) rivers d) oceans

YT TS B!
a) THTIRIA VIR I
b) gEIR T

C) SR UfgeieT JuTR Td

d) TR FeTeT JTAAT ST Siderel Ao JT.
What are milk teeth?

a) The teeth that come from milk.

b) Aching teeth

c) The first set of the teeth which a baby gets.
d) Bad teeth replaced by new teeth.

aNTTes U5 S5l
a) ASeret = b) Tt 3mfoT 7 C) STl Fos d) fagga =

Find the odd man out.

a) Dried leaves b) urine and faces c¢) rotten fruits d) battery cells
WIS HIICAR 7T G T THROT THeS AT oo SferE T .

a) 37 3T S b) T amUT % C) T 3T g d) & amfor =
We should not wash vegetable after cutting them because the vitamins

are lost.

a) Aand D b) E and K c)Dand E d) Band C

(Page - 17)



85.

86.

87.

.......... T AT TTUT qoraot et S ad?

(e 0 (aY (oY (oY o
a) T A=l MUl b) TS HUSATAT MBI

C) ST AT IUTHIT d) BT AT Btel Mesuh
Which of the following can make water really safe?
a) three-pot filter b) four-layer cotton cloth

c) modern filtering device d) small filter attached to a tap

Tal Gohd g9k (Fer=TodT) &aT oAl =TT shedra?

a) TR ARSI

b) T FeAHT TR oIS
C) SR T FehdIRTeh & 3T & THSTUaaa!
d) st vt wE

Why do some signals make sound?

a) To amuse people

b) to make small children happy

c) to let the blind person know that signal is on
d) all the above

QTeAAeh! ShivTedT TATYaE YReTH S Tiieh Teh HigT SUa hicTl !

a) TR 55 b) T T8 ¢) st d) $z-u-frerg
Before which of the following do the mulims observe the fasting for one month?

a) Bkri Id b) Ramjan Id c) Meeraj d) Eid-e-milad

JTEYAT HIHT AR ld hROT.......

a

a o > a < a
a) A=Al dliscedl-l His Hlel b) dlzdl Hlgll Hiw Alel

o) C [a) (a) o + [a)
C) AT 3ATSAT Shichl el d) = TS ekl ATl

Rashmi does not have maternal uncle because.
a) her father has not brother b) her mother has no brother

c¢) her mother has not uncle d) her father has no uncle
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88.

89.

90.

91.

92.

ST HIvTCAT e 375 F3ae! ST "ll'&'ahl‘-7

a) 33 b) 9= C) i3 d) FeAT=aT uTehesdl
Which part of a tree food is not stored?

a) stem b) root c) fruit d) petals of flower
G TR U oo ST ST

a) ¥ b)3 )R d) u

All the insects have pair of legs.

a) 4 b) 3 c)2 d)5

T AR WTeTeTdeh! SIOTdT IaTe STIRe SATdt?

a) ATl b) =R c) fehet d) wian

Which of the following substance is used in the process of manufacturing fertilizer?

a) Naphtha b) tar c) kerosene d) coal

TS o= ITeTehssl ShivT 3TRd?

a) TS U b) geee= uretet C) FBNRS AR d) YT e

Who is the Guardian Minister of Aurangabad district?

a) Babanrao Pachpute b) Harshwardhan Patil

c) Balasaheb Thorat d) Tajesh Tope

IRaren 11 =1 daane Ao STege] ------------- T 3T,

a) g ST b) it et ¢) S wHET fm d) 3reet faer el
1s the president of 1 1" five year plan.

a) Narendra Jadhav b) Soniya Gandhi

c¢) Dr. Manmohansing d) Atal Bihari Wajpeyee
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93.

94.

95.

96.

97.

19 FuTETeie fasaeniess fshehe Tat 2012 = fastar 391 siorr?
a) YRd b) e SRIETSIE] d) siiciept
Which country won the under nineteen cricket world cup 20127

a) India b) Australia c) Pakistan d) Shrilanka

a) 3 ufger 2013 b) 3 ufter 2012 ¢) 12 uiyer 2013 d) 4 et 2012
IPL started on

a) 3 ufirer 2013 b)3uwiri 2012 ¢) 12ufer 2013 d) 4 ufirer 2012

SHY[HTE TS AT SHIvTeAT FeITe TATIT el ?

a) TSR IREq 987 b) o sHar el ¢) e uet d) TR @ e
Which of the following political party was established by Keshubhai Patel?

a) Gujrat Parivartan Paksha b) Gujrat Janta Paksha

c¢) Shivarajya Paksha d) Gujrat Swabhiman Party

TR LT G Ulee! 3Te2eT HioT?

a) TETHHTE TS b) dfed Te% ¢) EETT 2R d) =rmerEg S
Who was the first president of Indian National Congress?

a) Villhabbhai Patel b) Pt. Nehru

c) Rabindranath Tagore d) Vyomeshchandra Banarjee

2011 <t STHTOHT &1 ARATE ------------- &l SO 3.

a) 7= b) 10 = c) 15 &t d) 11 =t
Census 2011 is the Census of India.

a) 7" b) 10" ¢) 15" d) 11"
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98.

99.

100.

101.

102.

2012 =7 H1fecs STRIGHT qREEHR 0T HBTAT?
a) gkl gHd b) FferTe e C) HITUTh TIeHTe d) s&d gaR
Who was awarded by Sahitya Academy Award 20127

a) Dharmakirti Sumanta b) Kashinath Thamba

¢) Manik Godghate d) Jayanta Pawar

ATEETHT TTHH @RS T2 50% TR0 I0R TERTE € ST fohad I 37 ?

a) 13 b)53 ¢) 49 4123
AT T TR Ged 50% 3TREI0T JUR HERTE § ST [ohed o 37187
a) 13 b)53 ¢) 49 4123

2013 et 9 gROT GATET Sel shet o ARAT fohad o7 8ict?

a) el b) wer c) =t d) 7

The Science Policy of India 2013 declared by Prime Minister was the
policy?

a)5 b) 6 c) 4 d)9

2012 =7 717 2TeTohi™ Shut qRERR Rl Shu=Tell S0t STTeTl?
a) arSTh= b) SiuguATe C) WRA T3ReA d) smatean
company has been awarded by Green Telecom 2012 award?

a) Vodafone b) BSNL c) Bharti Airtel d) Idea

TR Yleelt AT ATEEAT Hior?
a) ey e b) WfAWEE 9T ¢) SHeuAT Teel d) wife g
Who is the first lady president of India?

a) Indira Gandhi b) Pratibhatai Patil c¢) Kalpana Chawla d) Sarojini Naidu

th
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103. 2013 g a9 YRS TRPHRA BT T G Hed...?
a) TToT <9Th b) sl heravE ) fosm aw d) G oy

Government of India declared year 2013 as .............

a) Water century b) Water Conservation

c¢) Science year d) Research year

104. 2012 =7 HeRTSZ FHE Hior?
a) Rfi ara b) a1y TR ¢) forehrr T d) i TR
Who is the Maharashtra Kesari of 20127
a) Narsinha Yadav b) Bapu Gavde c) Vikas Gavde d) Vijay Bankar

105. 2013 =t TRU= UREE IS IR TSeAl?
a) TR b) =feres ¢) AR d) Ty
Sarpanch Parishad 2013 was held at ................
a) Aurangabad b) Nashik c) Nagpur d) Kolhapur

106. THeT ST 3TH WIoTloTdshl Shid gial?

a) e (TEuey) b) ZiaehsaR (FERT)

C) FAHREAR (FEATR) d) T (o)

Where is the source of river Narmada?

a) Amarkantak (MP) b) Trimbakeshwar (MH)
c) Omkareshwar (MP) d) Narmodatri (Nepal)

107. ErcfieTden SHRTHES TaTd SR U ST ?
a) Tt b) au c) T d) g
Which of the following has maximum proteins?

a) orange b) ghee c) potato d) groundnut
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108.

109.

110.

I11.

112.

............ 2 oo uitoe= Ueiag @9me 31T
a) TUT AHITET b)) TUEqeHd 990 ¢) STHER d) TSoeT ulteg aremer

.................. 1s an ex. officio member of Zilla Parishad.

a) Sarpanch of Grampanchayat b) Chair person of Panchayat Samiti
c) Member of Legislative Assembly d) President of Zilla Parishad

o o noo_. . n A [
Gletletdenl A SHepdlRIT adalad S{eo VKT SHiepdl Y4l Qilal.

Out of the given group of figures find out an exact similar figure to the given
question figure.

T2y 72y | | Ay
AB), AB), AN
(D @ ©) “
a) 1 b) 2 ¢)3 d) 4

(2} (2} [ W A W * [a} [a [
QTeAeTUh! U9 TR daiad STe3UTRT 3TTehell i Y.
Out of the given group of figures find out an exact similar figure to the given

question figure.

+ + X X X +| |+ + X| |[X + X| |+ + X

X X + + + X| X + X| |X X +| |X X +

+ X + X + X| | X X +| |+ + X| |+ X +

(D (2) (3) (4)

a) 1 b) 2 c)3 d) 4
ST ga STARR h5 ... I 3R
a) SR b) qerg C) etk d) sfiefenter
Satish Dhavan Space Centre is located at .
a) Benglore b) Mumbai c¢) Kolkata d) Shriharikota

QA TRt SFUTA U 3ieh Tetfeetet ATel. f ShivTar S9Tes shH J¢ dTe] Jela.

¢y %0, %, ¢y veveennnn. , 3%, Ko, &&

a) ¥ b) 3y C) % d) R

A number series is given with one term missing. Choose the correct alternative that
will continue the same pattern...

8, 10, 14, 18, .......... , 34, 50, 66

a) 24 b) 25 c) 26 d) 27
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113.

114.

115.

116.

117.

118.

o a o < (?
ARl ST enlVIdl Hlg-l dge!

ST @ e o2 SR : ?

a) fedsr b) ara ¢) TRt d) STeamrt
Which month should come at question mark?

July : November :: October : ?

a) December b) March c) February d) January

TERTSE TSI & oo P A [T T Tet et 37T

a) 33 b) 4 c) 83 d) ]
The area of Maharashtra State is distributed in Agro Climatic Zone.
a) 33 b)5 c) 13 d)9

A T IRl g oo STe=a oTe.

a) TR b) IR c) g d) wReoft
Parali thermal power station is located in district.
a) Lature b) Usmanabad c) Beed d) Parbhani

Pick out the idiom from the given alternative which mean :
A difficult problem to solve
a) To get into hot water b) To spread like a wild fire

c¢) A hard nut to crack d) A fish out of water.

Find the opposite word of the given word : Tiny x

a) Heavy b) Big c) Huge d) Small

Choose the linking word that best complete the sentence.

it was freezing outside, I wore a light jacket.

a) Because b) Despite c) Even though d) Although
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119. skt HUNGER = FOOD, ax THIRST =?
a) PEPSI b) ICE c) ICE-CREAM  d) WATER
If HUNGER = FOOD, then THIRST = ?
a) PEPSI b) ICE c) ICE-CREAM  d) WATER

120. geATamgT=aT ST ShivTdT 9165 T5ct?
e W ug: ?
a) e b) grerEret ¢) foaR d) ffeeror
Which word should come at the place of question mark?
Finger : Touch :: Brain : ?

a) Reading b) Movement c¢) Thinking d) Observation

121. wreiieTdent 19[S YeaTeT TaTe I,

a) IRl b) TR C) TH: TR REREIE)
122, Greien TS 3T HERTSAT ... 1 Soard 3R,

2) SR b) sfer c) meferic d) s

The Tadoba Nationial Park is located in district of Maharashtra.

a) Chandrapur b) Bhandara c¢) Gadchiroli d) Vardha

123. wehr Hichlaes am™ad ENGLAND =1 Hichdies 1234526 amfor FRANCE =1 gishdiss 785291
38T, oY e 9d GREECE =1 Sehdieh ra?
a) 381171 b) 381191 c) 832252 d) 835545

The word ENGLAND is written in a code language as 1234526 and FRANCE as
785291, how will you write GREECE in the same code language?
a) 381171 b) 381191 c) 832252 d) 835545
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124.

125.

126.

127.

GToAToTUShl ShIUTE SR HRATER FHlal 3T Tead?

a) T b) @i c) qEe d) =1
Which of the following never ruled North India?

a) Gupta b) Morya c) Mogal d) Chalukya

QTeACTUh! ST S STl el Teehicict e T i ?
Which one of the following venn diagram correctly illustrate the relationship among
the classes?

Elephant, Wolf, Animals

/ .

V)

TN e AV AN

\ T T N /A AV T

[~ A~ VA AYA \ [ vy
VYA / Yy 1A \ - L) e —
LoJu )l i Pl l AV AY XN YN
\\/ S/ \ \ /oL J \ N\ X/ ./ (Y \
\ / \ \/ \/ / \, — 1\ \J I\ ]
a) N 4 b) N X P 4 C) N d d) oMY N/

2009 et €. araTaRd iaeEHEr quatdet 6 fegsR st Aqart gidl. = au Ardrsar 9ol

SHIOTCAT AR ST 3THeA?

a) Yfeamrdt b) IRarRy ¢) HBaR d) Feemt

In the year 2009 Dr. Babasaheb Ambedkar's death anniversary (6th December) was
on sunday on which day did Chrisms fall in that year?

a) Sunday b) Friday c) Tuesday d) Wednesday

o . o . ) a e < o c .
Wletler HRAlA HARAlelT4l ST enlVIAl A&l b, ﬁ ENEEIREEIRING ST,

Fill up the missing term in the following table.

6 ]9 12
7 |18 | 15
28 |26 | 30
a) 22 b) 21 ¢) 25 d) 26

(Page - 26)



128.

129.

2T F JHURT 9155 313l
a) Mgs b) 3Tfar ¢) ue d) 3Res
Find odd man out.

a) Earthworm b) Mango c) Parrot d) Cockroach

MEM YAt AT ST, 3T 3T IR ST FHFER TSel; T 3T AB3T T i Flret !

a) =% U ST RIS &1 B,

b) 31T TRUMR AT A= TS0 T SRS G& FHH

C) STISTATSIAT g, -Teh! T STet, JTel TU B

d) TTUaT SReTeA SIREH S ST S HTerd STTeq.

While travelling by the train somebody shouts 'Fire, Fire' what will be your reaction?
a) I will run towards the exit.

b) I will be afraid and cry.

c) I will first check what exactly happened.

d) I will pull the chain to stop the train.

130. foemeft [T SresTee SHROT=aT Teh TTeTd T THIEST 311; T3 3790 deal qrel il AT’

a) T 3o HeehT=Ii=T S e o .

b) S TRT AT | IATE.

C) ST ShIRT AT Shiel T HIUITE Tl 2 o T S ST Hed .

d) 4t arg1, forre, TR FHId TR.

You are a part of a team that has to decorate the class for students day how do you
behave?

a) I tell other team members what to do.

b) I get angry when others make mistakes.

c) I let everyone do something and try to be as helpful as I can.

d) I laugh and fool around and hardly anything gets done.
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131.

132.

133.

134.

A & B =t urg a1, C &1 B =1 qorm a1%. D & E = gortt e 3 C = amret 378, o) B 91 D =it

AT T 3AGA?

a) 3Tt b) @y C) TTERT d) Gy TRl HIE

A is a mother-in-law of B. C is a son of B. D is a daughter of E and wife of C, then
what is the relation of B with D?

a) Grandmother b) Mother-in-law

c) Father-in-law d) Mother-in-law or Father-in-law

TSATYET 0T 5 ST Sl 3115 5 auigait Irsire 3 21 g ) SO Qi = IS AT 707
AT AT ek [ohell BIset?
a) 15 a9 b) 12 & c) 26 & d) 5 a9

A queen is younger than a king by 5 years. 5 years ago the king was 21 years what

will be the difference in their age after 7 years?

a) 15 years b) 12 years c) 26 years d) 5 years

U YT =T USTRN ST Heiel 31 T Gaiey fod=a1 YT =i UgTet ST Ay uaig
.

s . .9
dIHC USR] oo Hg™

a) T b) =T c) TH d) STt

There is a relation between first word with the second. The same relation is between
third and fourth find out the option to complete the relationship.

Parrot : Cage : Man : ?

a) House b) City c) Prison d) Jungle

9T SThcll ATUTeR 3T e fo=! aruad Uidiee v S8, o STRIehediq ST
Find out the reflection image of the question figure observed in water from the given
answers.

LA U

(1) (2) 3) (4)
a) 1 b) 2 ¢)3 d) 4
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135.

136.

137.

138.

139.

140.

T STl qToTeR 3T eReaT Tt v uidfere s fedet, o STRTheaia I

Find out the reflection image of the question figure observed in water from the given

answers.
(1) (2) 3 (4)

a) 1 b)2 ¢)3 d) 4

TR TOTeTuT Wekiiel TS 3T REOTOTRT Ufeet HR hioT?

a) TETeHT SRS Fet b) . TEERS ESH

¢) FORTE T d) sreRTe sae

Who is the first Indian who said Primary Education must be compulsory?
a) Mahatma Jyotirao fule b) Dr. Babasaheb Ambedkar
c¢) Krushnarao Patil d) Bhaskar Jadhav

GTeATeT Uehl AT 3T3GET.

a) T b) & c) T d) 7o

GTeATeT Uohl Teherat I1e8 3Tl

a) Tt b) T ¢) ferdr d) 7ot

T 37 YT GHHTT I 3Tl
a) @t b) == ¢) siTer d) =

GTeAleT ST el [ShaTae STiaET.

a 2O (e}
SIS XSl 1S Al del.

a) T b) TR ¢) wifirerett d) sty

(Page - 29)



141.

142.

143.

144.

145.

146.

147.

148.

' 1 IR I VR 3T

a) Fiera b) et SEEIETS
a) SHHATAT b) gE ¢) g
ST TATST ATet 3T ...

a) TSI} b) AT ¢) TeTE
e TTe3TeN 3797 YEleTueh! Shivtr?

a) 7Y b) g c) R

TIeTeR] &1 Ueh Hial ol 3718, 7 seridier STaREd s STd i,

a) fergremoT b) 7 ¢) T
s a1 T foregTelt Teg hivTaT.

a) uq b) T ¢) ufa
T 9 YR 9% 33T -

) TRIE b) demsy c) ferex
Find the odd man out :

a) Everest b) Sahyadri c) Vindhya

(e} a o (e} -7
QTeAeTYShl ShI0TCT TUShICAT ST ITa Tl 7T 374 /
a) g b) SRt WELSE]

Which of the following crops require heavy rainfall?

a) Wheat b) Jawar c) Bajra

d) ==

d) fomedt

d) fersst

d) g

d) foramag

d) Hosoh

d) Fer

d) Nilgiri

d) 5

d) Rice
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149.

150.

STHI AT ... AT oo g Bl

a) TTIHY, IRyl b) 3178, 3907 C) WIIHTIT, TR d) TR, ATHT
The land heats in the sun and cools down
a) quickly, slowly  b) humid, hot c) slowly, quickly d) quickly, quickly

AR TSTeRITe WIetTeTdeh! ShiuTedT ST foehrd HigaT FHTOMER Setell 3Te?

a) faue b) sty c) Temrae Ffee d) e g
Which industry is well developed in Chandrapur district?

a) Cement b) Medicine c¢) Film d) Iron Goods
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Space for rough work
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